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NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& foKku ds rRofoKku ds rRofoKku ds rRofoKku ds rRo Subject:- Elements of Science
le;%&le;%&le;%&le;%& 3 ?k.Vk3 ?k.Vk3 ?k.Vk3 ?k.Vk Time:- 3 Hours
iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%& 7 57 57 57 5 Maximum Marks :-  75

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&
¼1½¼1½¼1½¼1½ lHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS A
¼2½¼2½¼2½¼2½ iz’u Ø- 1 ls 6 izR;sd ij 2 vad vkcafVr gS A mRrj ’kCn lhek 30iz’u Ø- 1 ls 6 izR;sd ij 2 vad vkcafVr gS A mRrj ’kCn lhek 30iz’u Ø- 1 ls 6 izR;sd ij 2 vad vkcafVr gS A mRrj ’kCn lhek 30iz’u Ø- 1 ls 6 izR;sd ij 2 vad vkcafVr gS A mRrj ’kCn lhek 30

’kCn A’kCn A’kCn A’kCn A
¼3½¼3½¼3½¼3½ iz’u Ø- 7 ls 12 izR;sd ij 3 vad vkcafVr gS A mRrj ’kCn lhek 50iz’u Ø- 7 ls 12 izR;sd ij 3 vad vkcafVr gS A mRrj ’kCn lhek 50iz’u Ø- 7 ls 12 izR;sd ij 3 vad vkcafVr gS A mRrj ’kCn lhek 50iz’u Ø- 7 ls 12 izR;sd ij 3 vad vkcafVr gS A mRrj ’kCn lhek 50

’kCn A’kCn A’kCn A’kCn A
¼4½¼4½¼4½¼4½ iz’u Ø- 13 ls 17 izR;sd ij 4 vad vkcafVr gS A mRrj ’kCn lhek 75iz’u Ø- 13 ls 17 izR;sd ij 4 vad vkcafVr gS A mRrj ’kCn lhek 75iz’u Ø- 13 ls 17 izR;sd ij 4 vad vkcafVr gS A mRrj ’kCn lhek 75iz’u Ø- 13 ls 17 izR;sd ij 4 vad vkcafVr gS A mRrj ’kCn lhek 75

’kCn A’kCn A’kCn A’kCn A
¼2½¼2½¼2½¼2½ iz’u Ø- 18 ls 22 izR;sd ij 5 vad vkcafVr gS A mRrj ’kCn lhek 120iz’u Ø- 18 ls 22 izR;sd ij 5 vad vkcafVr gS A mRrj ’kCn lhek 120iz’u Ø- 18 ls 22 izR;sd ij 5 vad vkcafVr gS A mRrj ’kCn lhek 120iz’u Ø- 18 ls 22 izR;sd ij 5 vad vkcafVr gS A mRrj ’kCn lhek 120

’kCn A’kCn A’kCn A’kCn A

Instructions:-

(1) All questions are Compulsory.

(2) Q. No. 1 to 6 carries 2 marks each. Answer limit - 30 words.

(3) Q. No. 7 to 12 carries 3 marks each. Answer limit - 50 words.

(4) Q. No. 13 to 17 carries 4 marks each. Answer limit - 75 words.

(5) Q. No. 18 to 22 carries 5 marks each. Answer limit - 120 words.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& LFkk;h pqEcd fdls dgrs gS \LFkk;h pqEcd fdls dgrs gS \LFkk;h pqEcd fdls dgrs gS \LFkk;h pqEcd fdls dgrs gS \   ¼2½  ¼2½  ¼2½  ¼2½
What is called “Permanent magnet” ?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& fo|qr vi?kV~; fdl ik= esa djk;k tkrk gS \fo|qr vi?kV~; fdl ik= esa djk;k tkrk gS \fo|qr vi?kV~; fdl ik= esa djk;k tkrk gS \fo|qr vi?kV~; fdl ik= esa djk;k tkrk gS \   ¼2½  ¼2½  ¼2½  ¼2½
In which vessel, electrolysis is performed ?

iz’u 3&iz’u 3&iz’u 3&iz’u 3& ukjey ?kksy D;k gS \ukjey ?kksy D;k gS \ukjey ?kksy D;k gS \ukjey ?kksy D;k gS \   ¼2½  ¼2½  ¼2½  ¼2½
What is normal solution ?
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iz’u 4&iz’u 4&iz’u 4&iz’u 4& mRizsjd fdls dgrs gSa \mRizsjd fdls dgrs gSa \mRizsjd fdls dgrs gSa \mRizsjd fdls dgrs gSa \   ¼2½  ¼2½  ¼2½  ¼2½
What is called Catalyst ?

iz’u 5&iz’u 5&iz’u 5&iz’u 5& fljdk dk jklk;fud lw= ,oa jklk;fud uke fyf[k;s Afljdk dk jklk;fud lw= ,oa jklk;fud uke fyf[k;s Afljdk dk jklk;fud lw= ,oa jklk;fud uke fyf[k;s Afljdk dk jklk;fud lw= ,oa jklk;fud uke fyf[k;s A   ¼2½  ¼2½  ¼2½  ¼2½
Write the chemical formula and chemical name of vinegar.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& Loiks"kh tho fdls dgrs gS A \Loiks"kh tho fdls dgrs gS A \Loiks"kh tho fdls dgrs gS A \Loiks"kh tho fdls dgrs gS A \   ¼2½  ¼2½  ¼2½  ¼2½
What is called “AUTOTROPH” ?

iz’u 7&iz’u 7&iz’u 7&iz’u 7& bUnz/kuq"k es jaxksa dk Øe D;k gksrk gS \bUnz/kuq"k es jaxksa dk Øe D;k gksrk gS \bUnz/kuq"k es jaxksa dk Øe D;k gksrk gS \bUnz/kuq"k es jaxksa dk Øe D;k gksrk gS \   ¼3½  ¼3½  ¼3½  ¼3½
What is order of color in the rainbow ?

iz’u 8&iz’u 8&iz’u 8&iz’u 8& twy ds fu;e fyf[k;s \twy ds fu;e fyf[k;s \twy ds fu;e fyf[k;s \twy ds fu;e fyf[k;s \   ¼3½  ¼3½  ¼3½  ¼3½
Write the Joule’s Law ?

iz’u 9&iz’u 9&iz’u 9&iz’u 9& ÑUru ;k dVkbZ iks/kksa ds fy;s D;ksa ykHknk;d gS \ dVkbZ esa mi;ksx vkusÑUru ;k dVkbZ iks/kksa ds fy;s D;ksa ykHknk;d gS \ dVkbZ esa mi;ksx vkusÑUru ;k dVkbZ iks/kksa ds fy;s D;ksa ykHknk;d gS \ dVkbZ esa mi;ksx vkusÑUru ;k dVkbZ iks/kksa ds fy;s D;ksa ykHknk;d gS \ dVkbZ esa mi;ksx vkus
okys dksbZ 2 ;U=ksa ds uke fyf[k;s Aokys dksbZ 2 ;U=ksa ds uke fyf[k;s Aokys dksbZ 2 ;U=ksa ds uke fyf[k;s Aokys dksbZ 2 ;U=ksa ds uke fyf[k;s A   ¼3½  ¼3½  ¼3½  ¼3½
Why pruning of plants is beneficial ? Name any two instrument or tools
which are used in pruning of plants.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& mRizsjd ds dksbZ rhu y{k.k fyf[k;s \mRizsjd ds dksbZ rhu y{k.k fyf[k;s \mRizsjd ds dksbZ rhu y{k.k fyf[k;s \mRizsjd ds dksbZ rhu y{k.k fyf[k;s \   ¼3½  ¼3½  ¼3½  ¼3½
Write any three characteristics of a catalyst ?

iz’u 11&iz’u 11&iz’u 11&iz’u 11& vk;ruh fo’ys"k.k ds dksbZ rhu mi;ksx fyf[k;s \vk;ruh fo’ys"k.k ds dksbZ rhu mi;ksx fyf[k;s \vk;ruh fo’ys"k.k ds dksbZ rhu mi;ksx fyf[k;s \vk;ruh fo’ys"k.k ds dksbZ rhu mi;ksx fyf[k;s \   ¼3½  ¼3½  ¼3½  ¼3½
Write any three uses of Volumetric analysis.

vFkok vFkok vFkok vFkok (OR)

N/10 lkUnzrk okys lkUnzrk okys lkUnzrk okys lkUnzrk okys Hcl foy;u dh lkUnzrk xzke izfr yhVj es a Kkrfoy;u dh lkUnzrk xzke izfr yhVj es a Kkrfoy;u dh lkUnzrk xzke izfr yhVj es a Kkrfoy;u dh lkUnzrk xzke izfr yhVj es a Kkr
dhft;s A dhft;s A dhft;s A dhft;s A Hcl dk rqY;kad Hkkj dk rqY;kad Hkkj dk rqY;kad Hkkj dk rqY;kad Hkkj = 36.5
Find out the normality of Hcl in gram per liter of N/10 solution of Hcl.
Given equivalent weight of Hcl = 36.5

iz’u 12&iz’u 12&iz’u 12&iz’u 12& thok.kq  ds dksbZ rhu ykHknk;d egRo fyf[k;s Athok.kq  ds dksbZ rhu ykHknk;d egRo fyf[k;s Athok.kq  ds dksbZ rhu ykHknk;d egRo fyf[k;s Athok.kq  ds dksbZ rhu ykHknk;d egRo fyf[k;s A   ¼3½  ¼3½  ¼3½  ¼3½
Write any three useful importance of the bacteria.

vFkok vFkok vFkok vFkok (OR)

thok.kq ds dksbZ rhu gkfudkjd izHkko fyf[k;s Athok.kq ds dksbZ rhu gkfudkjd izHkko fyf[k;s Athok.kq ds dksbZ rhu gkfudkjd izHkko fyf[k;s Athok.kq ds dksbZ rhu gkfudkjd izHkko fyf[k;s A
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Write any three harmful effects of the bacteria.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& csfdax ikmMj cukus esa mi;ksxh jlk;u dk uke] ,d xq.k] o nks mi;ksxcsfdax ikmMj cukus esa mi;ksxh jlk;u dk uke] ,d xq.k] o nks mi;ksxcsfdax ikmMj cukus esa mi;ksxh jlk;u dk uke] ,d xq.k] o nks mi;ksxcsfdax ikmMj cukus esa mi;ksxh jlk;u dk uke] ,d xq.k] o nks mi;ksx
fyf[k;s Afyf[k;s Afyf[k;s Afyf[k;s A   ¼4½  ¼4½  ¼4½  ¼4½
Write the name of chemical used in the preparation of baking powder
along with one property and two uses of it.

iz’u 14&iz’u 14&iz’u 14&iz’u 14& ikS/kks esa fuEu rRoksa dk izkfIr LFkku o fo’ks"k dk;Z fyf[k;s &ikS/kks esa fuEu rRoksa dk izkfIr LFkku o fo’ks"k dk;Z fyf[k;s &ikS/kks esa fuEu rRoksa dk izkfIr LFkku o fo’ks"k dk;Z fyf[k;s &ikS/kks esa fuEu rRoksa dk izkfIr LFkku o fo’ks"k dk;Z fyf[k;s &   ¼4½  ¼4½  ¼4½  ¼4½
QkLQksjl QkLQksjl QkLQksjl QkLQksjl (P)] lYQj ] lYQj ] lYQj ] lYQj (S), rkack  rkack  rkack  rkack (Cu), ukbVªkstu  ukbVªkstu  ukbVªkstu  ukbVªkstu (N)
Write the name of source and special function of the following elements
in plants-
Phosphorus (P), Sulphur (S), Copper (Cu), Nitrogen (N)

iz’u 15&iz’u 15&iz’u 15&iz’u 15& ^lw;Zxzg.k dh izfØ;k dks lfp= le>kb;s A^lw;Zxzg.k dh izfØ;k dks lfp= le>kb;s A^lw;Zxzg.k dh izfØ;k dks lfp= le>kb;s A^lw;Zxzg.k dh izfØ;k dks lfp= le>kb;s A   ¼4½  ¼4½  ¼4½  ¼4½
Explain the solar eclips with help of diagram ?

iz’u 16&iz’u 16&iz’u 16&iz’u 16& ’olu rFkk izdk’k la’ys"k.k esa dksbZ pkj vUrj dhft;s A’olu rFkk izdk’k la’ys"k.k esa dksbZ pkj vUrj dhft;s A’olu rFkk izdk’k la’ys"k.k esa dksbZ pkj vUrj dhft;s A’olu rFkk izdk’k la’ys"k.k esa dksbZ pkj vUrj dhft;s A   ¼4½  ¼4½  ¼4½  ¼4½
Write the difference between respiration and photosynthesis (Any four).

vFkok vFkok vFkok vFkok (OR)

vkDlh rFkk vukDlh ’olu esa dksbZ pkj varj dhft;s AvkDlh rFkk vukDlh ’olu esa dksbZ pkj varj dhft;s AvkDlh rFkk vukDlh ’olu esa dksbZ pkj varj dhft;s AvkDlh rFkk vukDlh ’olu esa dksbZ pkj varj dhft;s A
Write the difference between Aerobic and  Anaerobic respiration. (Any
four)

iz’u 17&iz’u 17&iz’u 17&iz’u 17& dfyy izd`fr esa ds dksbZ pkj mi;ksx fyf[k, Adfyy izd`fr esa ds dksbZ pkj mi;ksx fyf[k, Adfyy izd`fr esa ds dksbZ pkj mi;ksx fyf[k, Adfyy izd`fr esa ds dksbZ pkj mi;ksx fyf[k, A         ¼4½        ¼4½        ¼4½        ¼4½
Write any four uses of colloidals in nature.

vFkok vFkok vFkok vFkok (OR)

dfyy ¼dksykbM½ dk nSfud thou esa dksbZ pkj mi;ksx fyf[k;s Adfyy ¼dksykbM½ dk nSfud thou esa dksbZ pkj mi;ksx fyf[k;s Adfyy ¼dksykbM½ dk nSfud thou esa dksbZ pkj mi;ksx fyf[k;s Adfyy ¼dksykbM½ dk nSfud thou esa dksbZ pkj mi;ksx fyf[k;s A
Write Any four uses of colloids in daily life.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& iz;ksx }kjk fl) dhft, fd izdk’k ljy js[kk esa xeu djrk gS \iz;ksx }kjk fl) dhft, fd izdk’k ljy js[kk esa xeu djrk gS \iz;ksx }kjk fl) dhft, fd izdk’k ljy js[kk esa xeu djrk gS \iz;ksx }kjk fl) dhft, fd izdk’k ljy js[kk esa xeu djrk gS \   ¼5½  ¼5½  ¼5½  ¼5½
Prove that light is propogates in straight line with the help of an
experiment.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& lhfy;k ds vk/kkj ij thok.kq dk oxhZdj.k dhft;s Alhfy;k ds vk/kkj ij thok.kq dk oxhZdj.k dhft;s Alhfy;k ds vk/kkj ij thok.kq dk oxhZdj.k dhft;s Alhfy;k ds vk/kkj ij thok.kq dk oxhZdj.k dhft;s A   ¼5½  ¼5½  ¼5½  ¼5½
Classify the becteria on the basis of cilia.
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iz’u 20&iz’u 20&iz’u 20&iz’u 20& fo|qr cYo dk lfp= o.kZu dhft;s Afo|qr cYo dk lfp= o.kZu dhft;s Afo|qr cYo dk lfp= o.kZu dhft;s Afo|qr cYo dk lfp= o.kZu dhft;s A   ¼5½  ¼5½  ¼5½  ¼5½
Explain the structure of an electric bulb with help of diagram.

vFkok vFkok vFkok vFkok (OR)

fo|qr ?kUVh dk lfp= o.kZu dhft, Afo|qr ?kUVh dk lfp= o.kZu dhft, Afo|qr ?kUVh dk lfp= o.kZu dhft, Afo|qr ?kUVh dk lfp= o.kZu dhft, A
Explain the structure of an electrical bell with the help of diagram.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& fdUgh ikap midj.kksa ds uke fyf[k;s tks m|ku esa mi;ksxh gSa \fdUgh ikap midj.kksa ds uke fyf[k;s tks m|ku esa mi;ksxh gSa \fdUgh ikap midj.kksa ds uke fyf[k;s tks m|ku esa mi;ksxh gSa \fdUgh ikap midj.kksa ds uke fyf[k;s tks m|ku esa mi;ksxh gSa \   ¼5½  ¼5½  ¼5½  ¼5½
Write the name any five tools or implements used in the gardening ?

vFkok vFkok vFkok vFkok (OR)

vkyw esa yxus okys nks dhVksa rFkk 3 chekfj;ksa dk uke fyf[k;s Avkyw esa yxus okys nks dhVksa rFkk 3 chekfj;ksa dk uke fyf[k;s Avkyw esa yxus okys nks dhVksa rFkk 3 chekfj;ksa dk uke fyf[k;s Avkyw esa yxus okys nks dhVksa rFkk 3 chekfj;ksa dk uke fyf[k;s A
Write the name of two insects and three diseases which attack and hap-
pened in the potato vegetables.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& ok"iksRltZu fof/k dks lfp= iz;ksx }kjk le>kb;s Aok"iksRltZu fof/k dks lfp= iz;ksx }kjk le>kb;s Aok"iksRltZu fof/k dks lfp= iz;ksx }kjk le>kb;s Aok"iksRltZu fof/k dks lfp= iz;ksx }kjk le>kb;s A   ¼5½  ¼5½  ¼5½  ¼5½
Explain the mechasim of transpiration with help of an experiment along
with diagram.

vFkok vFkok vFkok vFkok (OR)

izdk’k la’ys"k.k dh izfØ;k esa vkDlhtu xSl fudyrh gS bldks lfp=izdk’k la’ys"k.k dh izfØ;k esa vkDlhtu xSl fudyrh gS bldks lfp=izdk’k la’ys"k.k dh izfØ;k esa vkDlhtu xSl fudyrh gS bldks lfp=izdk’k la’ys"k.k dh izfØ;k esa vkDlhtu xSl fudyrh gS bldks lfp=
iz;ksx }kjk fl) dhft;s Aiz;ksx }kjk fl) dhft;s Aiz;ksx }kjk fl) dhft;s Aiz;ksx }kjk fl) dhft;s A
Prove in experimentally that Oxygen gas is evolved during photosynthesis
with help of diagram.

--------X--------


